Chapter 11

EXERCISE 11-2 (10-15 minutes)

The allocation of costs would be as follows:

	
	Land
	
	Building

	Land
	$400,000
	
	

	Razing Costs
	42,000
	
	

	Salvage
	(6,300)
	
	

	Legal Fees
	1,850
	
	

	Survey
	
	
	$       2,200

	Plans
	
	
	68,000

	Liability Insurance
	
	
	900

	Construction
	
	
	2,740,000

	Interest
	_______
	
	     170,000

	
	$437,550
	
	$2,981,100


EXERCISE 11-3 (10-15 minutes)

	1.
	Truck #1

	13,900
	

	
	
Cash

	
	13,900

	
	
	
	

	2.
	Truck #2

	14,727*
	

	
	Discount on Note Payable

	1,273
	

	
	
Cash

	
	2,000

	
	
Note Payable

	
	14,000

	
	 *PV of $14,000 @ 10% for 1 year =
	
	

	
	
   $14,000 X .90909 = $12,727
	
	

	
	
   $12,727 + $2,000 = $14,727
	
	

	
	
	
	

	3.
	Truck #3

	15,200
	

	
	Cost of Goods Sold

	12,000
	

	
	
Inventory

	
	12,000

	
	
Sales

	
	15,200

	
	
	
	

	
	[Note to instructor: The selling (retail) price of the computer system appears to be a better gauge of the fair value of the consideration given than is the list price of the truck as a gauge of the fair value of the consideration received (truck). Vehicles are very often sold at a price below the list price.]

	
	
	
	

	4.
	Truck #4

	13,000
	

	
	
Common Shares

	
	13,000

	
	(1,000 shares X $13 = $13,000)
	
	


EXERCISE 11-4 (20-25 minutes)

Purchase

	Cash paid for equipment, including sales tax of $8,000
	$108,000

	Freight and insurance while in transit
	2,000

	Cost of moving equipment into place at factory
	3,100

	Wage cost for technicians to test equipment
	4,000

	Special plumbing fixtures required for new equipment
	      8,000

	Total cost
	$125,100


The GST of $7,000 paid on purchase of the equipment should be reported as GST Receivable, and not be capitalized. The insurance premium paid during the first year of operation of this equipment should be reported as insurance expense, and not be capitalized. Repair cost incurred in the first year of operations related to this equipment should be reported as repair and maintenance expense, and not be capitalized. The insurance and repair costs relate to periods subsequent to purchase.

Construction

	Material and purchased parts ($200,000 X .98)
	$196,000

	Labour costs
	190,000

	Overhead costs
	50,000

	Cost of installing equipment
	      4,400

	Total cost
	$440,400


Note that the cost of material and purchased parts is reduced by the amount of cash discount not taken because the equipment should be reported at its cash equivalent price. The imputed interest on funds used during construction related to share financing and should not be capitalized or expensed. This item is an opportunity cost that is not reported.

Profit on self-construction should not be reported. Profit should only be reported when the asset is sold.

EXERCISE 11-10 (20-25 minutes)

Situation I. $80,000—The requirement is the amount Oksana Inc. should report as capitalized interest at 12/31/02. The amount of interest eligible for capitalization is

Weighted-Average Accumulated Expenditures X Interest Rate 

= Avoidable Interest

Since Oksana Inc. has outstanding debt incurred specifically for the construction project, in an amount greater than the weighted-average accumulated expenditures of $800,000, the interest rate of 10% is used for capitalization purposes. Therefore, the avoidable interest is $80,000, which is less than the actual interest.

$800,000 X .10 = $80,000

Finally, the interest earned of $250,000 is irrelevant to the question addressed in this problem because such interest earned on the unexpended portion of the loan is not to be offset against the amount eligible for capitalization.

Situation II. $39,000—The requirement is total interest costs to be capitalized. Assets which qualify for interest capitalization: assets constructed for an enterprise’s own use and assets intended for sale or lease that are produced as discrete projects. Inventories that are routinely produced in large quantities on a repetitive basis do not qualify for interest capitalization. Therefore, only $30,000 and $9,000 are capitalized.

Situation III. $385,000—The requirement is to determine the amount of interest to be capitalized on the financial statements at April 30, 2003. The requirements for capitalizing interest are met: (1) expenditures for the asset have been made, (2) activities that are necessary to get the asset ready for its intended use are in progress, and (3) interest cost is being incurred. The amount to be capitalized is determined by applying an interest rate to the weighted-average amount of accumulated expenditures for the asset during the period. 

EXERCISE 11-10 (Continued)

Because the $7,000,000 of expenditures incurred for the year ended April 30, 2003, were incurred evenly throughout the year, the weighted-average amount of expenditures for the year is $3,500,000, ($7,000,000 ( 2). Therefore, the amount of interest to be capitalized is $385,000 ($3,500,000 X 11%). In any period the total amount of interest cost to be capitalized shall not exceed the total amount of interest cost incurred by the enterprise. (Total interest is $1,100,000). Finally, the interest earned of $650,000 is irrelevant to the question addressed in this problem because such interest earned on the unexpended portion of the loan is not be offset against the amount eligible for capitalization.

EXERCISE 11-13 (20-25 minutes)

	1.
	Land


	350,000
	

	
	Building

	1,050,000
	

	
	Machinery and Equipment

	700,000
	

	
	
Common Shares 


 (12,500 X $168)

	
	2,100,000

	
	(The cost of the plant assets is
	
	

	
	$2,100,000, or 12,500 X $168. The
	
	

	
	cost is allocated in proportion to the appraised value: 1/6 to Land,
	
	

	
	1/2 to Building, and 1/3 to 
	
	

	
	Machinery and Equipment.)
	
	

	
	
	
	

	2.
	Buildings ($105,000 + $161,000)

	266,000
	

	
	Machinery and Equipment

	135,000
	

	
	Land Improvements

	122,000
	

	
	Land


	18,000
	

	
	
Cash

	
	541,000


	3.
	Machinery and Equipment

	265,300
	

	
	
Cash

	
	265,300

	
	($10,500 plus $254,800, which is 98%
	
	

	
	of $260,000.)
	
	


EXERCISE 11-14 (15-20 minutes)

	(a)
	Equipment

	576,765*
	

	
	Discount on Notes Payable

	223,235
	

	
	
Notes Payable

	
	800,000

	
	*PV of $160,000 annuity @ 12% for 5 
	
	

	
	years: ($160,000 X 3.60478) = $576,765
	
	

	
	
	
	

	(b)
	Interest Expense

	69,212*
	

	
	Notes Payable

	160,000
	

	
	
Discount on Notes Payable

	
	69,212

	
	
Cash

	
	160,000

	
	*(12% X $576,765)
	
	


	Year
	
	Note Payment
	
	12% Interest
	
	Reduction of Principal
	
	Balance

	1/2/02
	
	
	
	
	
	
	
	$576,765

	12/31/02
	
	$160,000
	
	$69,212
	
	$  90,788
	
	  485,977

	12/31/03
	
	  160,000
	
	  58,317
	
	  101,683
	
	  384,294


	(c)
	Interest Expense

	58,317
	

	
	Notes Payable

	160,000
	

	
	
Discount on Notes Payable

	
	58,317

	
	
Cash

	
	160,000

	
	
	
	

	(d)
	Amortization Expense

	57,677*
	

	
	
Accumulated Amortization

	
	57,677

	
	*($576,765 ( 10)
	
	


EXERCISE 11-17 (10-15 minutes)

	Busytown Corporation
	
	

	Machine ($340 + $85)

	425
	

	Accumulated Amortization

	140
	

	Loss on Disposal of Machine

	65
	

	
Machine (old)

	
	290

	
Cash

	
	340


	
	Calculation of loss:
	

	
	   Book value of old machine ($290 – $140)
	150

	
	   Fair value of old machine
	   (85)

	
	      Loss on exchange
	$  65


	Business Machine Company
	
	

	Cash


	340
	

	Inventory (used)

	85
	

	Cost of Goods Sold

	270
	

	
Sales

	
	425

	
Inventory (new)

	
	270


EXERCISE 11-19 (15-20 minutes)

	Carlos Company:
	
	

	Equipment (New)

	10,500
	

	Accumulated Amortization

	19,000
	

	
Equipment (Old)

	
	28,000

	
Cash

	
	1,500


	Valuation of equipment:
	
	
	
	

	Book value of 
	$  9,000
	
	Fair value received
	$17,000

	   equip. given
	
	OR
	Less gain deferred
	    6,500*

	Fair value of boot given
	    1,500
	
	New equipment
	$10,500

	      New equip.
	$10,500
	
	
	

	
	
	
	*Fair value of old
	

	
	
	
	   equipment
	$15,500

	
	
	
	Book value of old
	

	
	
	
	   equipment
	   (9,000)

	
	
	
	Gain on disposal
	$  6,500


Note: Cash paid is less than 10%, the transaction is nonmonetary, so the gain is deferred.

	Lo Bianco Company:
	
	

	Cash


	1,500
	

	Equipment (New)

	15,500
	

	Accumulated Amortization

	10,000
	

	Loss on Disposal of Plant Assets

	1,000
	

	
Equipment (Old)

	
	28,000

	
	
	

	Calculation of loss:
	
	

	Book value of old equipment
	$18,000
	

	Fair value of old equipment
	  17,000
	

	Loss on exchange
	$  1,000
	


EXERCISE 11-23 (10-15 minutes)

1. C

2. E, assuming immaterial

3. C

4. C

5. C

6. C

7. C

8. E

9. C

10. E

